CBSE Board Class 10 | Maths

QUIZ-01 GYAN

CHAPTER-11| Areas Related to Circles

1. The region enclosed between two radiiand the arc | g. \What is the correct unit for area of a sector?

is called: A em 8. crm?
A. Segment B. Triangle

Cm D. degrees (B)
C. Sector D. Diameter (@)

) ) ) Explanation : Area is always measured in square units.
Explanation : A sector is the region enclosed by two & Y a

radii and the corresponding arc. 7. A quadrantis what part of a circle?
2. If the central angleis 90°, and radius is 7 cm, what A. One-half B. One-third
Is the area of the segjpr? C. One-fourth D.Fullcircle ()
A.38.5 cm? B.77 cm? ) _ ,
Explanation : A quadrant is one-fourth of a circle;
C.154 cm? D.19.25 cm? (A)
_ angle =90°
Explanation :

(90/360) x 77 x 12 = 1/4 x (22/7) 49 = 38,5 cm? SYEe Uabcc

3. Areaof a segment= A. (6/360) x 2711 B. (6/360) x 1112
A. Area of triangle - sector C.1r? D. 271r (B)

B. Sector + triangle Explanation : Direct formula: (8/360) x rir?

C. Area of sector - triangle o
9. Angle at the center of a full circleiis:

D. Area of circle - chord ©

_ A.180° B.360°
Explanation: Segment = Area of sector — Area of

triangle C.270° D.90° (B)

4. What is the formula for the arc length of a sector? | Explanation: Total angle in a circle = 360°

A. (6/180) x TIr B. (6/360) x 27T 10. Which value of 1 is mostly used in this chapter?

2
C. (6/180) x 271 D.7ir (B) A 312 B.3.14

Explanation : Arc length = (6/360) x 27111
C.3.00 D. 316 (B)

5. Radius =14 cm and angle = 60°, arc length="?
A 14.66 cm B.733 cm Explanation : 11is taken as 3.14 for approximations
C.55cm D.4.66 cm (A) unless stated otherwise.

Explanation : Arc = (60/360) x 211 x 14 = 14.66 cm
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